PriKine_p.q3m[0]

PriKine_p.q3m[0]-BB.tr.p[0]

PriKine_p.q3m[0]-BB.tr.p[0]

g3m_vs_p

PO = 0002539 (11-) U.00000D

0

E'Dl: 0.799560 (+/-) 0.001579

Entries

Mean x 0.3822% 8.704e-05
Mean y #3653 + 5.923e-05
BMS x0.03257 + 6.155€-05
RMS y0.02216+ 4.188e-05

Integral 1.4e+05

55 0.6
BB.tr.p[0]

0.02

0.01

-0.01

-0.02

-0.03

-0.04

-0.05

_0'06-1

diff vs d x

Entries 157123
Mean x -0.004667 + 0.0005656

P Meany .0.01385 + 3.163e-05
| RMSx  0.1996+ 0.0003999

RMSY 001117+ 2.237e-05
Integral 1.246e+05

06 08 1
BB.tr.d_x[0]

diff vs_d_y
Entries 157123
Mean x -0.09856 + 0.0001175
Meany .0.01385 + 3.163e-05
RMS x 0.04149 + 8.312e-05
RMSy 0.01117+ 2.237e-05
Integral 1.246e+05

015 0.2
BB.tr.d_y[0]

200
180
160
140
120
100
80
60
40
20

PriKine_p.q3m[0]-BB.tr.p[0]

PriKine_p.q3m[0]-BB.tr.p[0]

PriKine_p.q3m[0]-BB.tr.p[0]

diff_vs_g3m

PU = -0.013007 (77-) U.000%3

p1=-0.001946 (+/-) 0.001491

Entries
Mean x
Mean y

diff vs

157123
0.3644 + 4.775¢-05
-0.01383 ¢ 3.157€-05

RMSy

Integral

0.01114+ 2.233¢-05
1.245e+05

055 0.6
PriKine_p.q3m[0]

o[ [T [T [T T[T [ TTRI T

di
Entries
Mean x
Mean y
RMS x
RMSy

Integral

ff vs_d_th
157123
-0.1554 + 0.0001602
-0.01384 + 3.155e-05
0.05649 + 0.0001133
0.01112+ 2.231e-05
1.243e+05

Entries
Mean x
Mean y
RMS x
RMSy

Integral

0.0

diff vs d

157123
0.02044 + 4.771-05
-0.01385 + 3.117e-05
0.01672 + 3.374e-05
0.01092 + 2.204e-05

1.228e+05

006 008
BB.tr.d_ph[0]




